Here are a bunch of helpful numbers and figures

In a container of gas, when temperature decreases pressure usually (\z!_e_c_(ga_i}s s / increases ).

1

2. Ina container of gas, when number of particles decreases pressure usually ((decreasés / increases ).
3. In a container of gas, when volume decreases pressure usually ( decreases( increases ).

4. Which of these units are suitable for solving gas math problems? o

a. kelvins are((s@blz/ not suitable ) b. degrees celsius are (suitable / nef kuitablﬁ )
b Y > 4

5. Read the problem below and then just check | 6. Read the problem below and then just
one box (don’t do any math): check one box (don’t do any math):

o pressure will decrease o pressure will decrease
>:{§ressure will increase /\Qﬁrcssure will increase

7. Read the problem below and then just 8. Read the problem below and then just
check one box (don’t do any math): check one box (don’t do any math):

‘aﬁressure will decrease

o pressure will increase

o pressure will decrease
o pressure will increase

9. Set up and calculate an exact solution to the 10. Set up and calculate an exact solution to
problem below. : the problem below.




Write each number in standard decimal style, without an exponent

8 )" 38k 105 S 'Ogc?z
9) se7 x10° «0000D0O0EL7
10) 13318% 10° = 1 13180

Write each number in scientific notation

3
15) 2068.9 = 20@8"\0

16 ) 8020000 = 8’07/ x mé
17) oogoooosgio = _ 2,10~ !O':
18 )  0.0008839 = B8N |

For each pair of quantities mark < , =, or >.
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!Q ! /),?23\. write the answer to the correct number of si%nificant figures

Cof  (asxn)(soxw) FGGR  ForD

write the answer to the correct number of significant figures

43x10"

25x10° ‘}72 =110
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How do we use math to
get an exact answer to a
gas problem?

1) is the abbreviation
for 'micro’.
example: pg is
microgram

2)kPa is kilopascal

3)Pa is pascal

4)atm is atmospheres

5)a means'is
proportional to'




#1 When tl;e molecules ng?ve faster, draw them like this
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and describe the pressure with this math:
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#2 When the volume gets larger, draw it like this
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and describe the pressure with this math:
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| Underline starter number
Circle numbers in a nlatlonshlp
Box unit you want for an answer.

(conversion factors) will have THE SAME units on top and bottom. {
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" grow the final answer.
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A quantity of gas exerts a
pressure of 98.6 3
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A gas with a volume &f 5.0 L
at a pressure of 0.85 ajm is
t

allowed to o
volume ig'7.00 L Wha‘t is
e new b’
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The pressure in an
automobile tire is 2.0 atm
and the tire contains
4.00x10%” molecules of air. If
the tire is pumped |up until it
contains 4.79x10%

molecules of air, what will

the new pressure be?

Oxygen gasis ata
temperature of 40°C when
it occupies a volume of 2.3
liters. To what temperature
should it be raised to
occupy a volume of 6.5
liters?




